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COMMERCE
PAPER - 11

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.
1.  The central bank can significantly influence the savings, investments and Consumér:spending
in the economy through which of the following policy ? .'I“;
(1)  Fiscal Policy (2) Monetary Policy . J
(3) Industrial Policy (4) Foreign Exchange Policy
2. Which one of the following is not the characteristic of capitalismm ? ©
(1) Individuals and associations behave with onbm},c motive of Iimaximising their profit
with least sacrifice or cost. /9‘:
(2) The country’s major means of productign are gither ,owned by the Government or their
use is controlled by the Government. |
(3)  Producers, consumers and employees CompeteL}d)ng themselves, as the resources and
opportunities are limited. y
(4) Price, the invisible hand, plays aipredommant rolei in the flow of the factors of production
and consumption.
</
\ <
A
3.  Which of the following is net-the salient feature of the industrial policy developments since
1991 ?
(1) The scope of the private sector has been enormously expanded.
i
(2) Public sector has beefi withdrawing partially or fully from several of the enterprises by
divestment.
(3) - The Indian industry is increasingly exposed to foreign competition.
/ (4)  Monopoly«gr dominant position for the public sector in most of the industries and
' control of ’;;e commanding heights of the economy by the public sector.
4.  Which of the following does not form the part of the important information to be incorporated
in the Memorandum of Association as specified in the Companies Act, 2013 ?
(1), The name of the company and the state in which it is situated.
(2) ¥ The objects for which the company is proposed to be incorporated.
(3)  The rules, regulations and bye-laws for the internal management of the company.
(4) The liability of the members of the company, whether limited or unlimited.
poosss [ LIHANRLANAN : Fapec
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5.  Assertion (A) : The volume of imports tends to be very high when there is a conjecture of
high rate of economic growth and a sharp fall in the relative price of imports
and vice versa.

Reason (R) : High rate of growth, ceteris paribus, is associated with rise in imports and
increase in the imports, ceteris paribus, is associated with a fall in the relative
price of imports.

Code :

(1) Both (A) and (R) are correct and (R) is the right explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the right explanation of (A). | ;
(3)  (A) is correct but (R) is not correct. 'rx
(4) (R) is correct but (A) is not correct.
I r
6.  Which of the following statements is not correct relating to consumerism ?

(1) Consumerism is a manifestation of the failure of the business to guarantee and ensure
consumer legitimate rights. i

(2) The government does not have any role in consumer protecﬁon as it is the part of
business organisations alone. .

(3)  The consumers should accept consumer,l’sm as a means of asserting and enjoying their
rights. ' [

(4) Consumerism evolution is not a set-back for marketing but rather points to the next
stage in the evolution of enlightened marketing,

7. Which one of the following is not cogered in the appfbach adopted by “Niti Aayog” ?
. . ! .
(1) Five year planning approach (2) Three year action agenda

(8) Seven year strategy { (4 Fifteen year vision
VA

8.  Assertion (A) : Personal transactions of the owners of the business are not recorded in the
books. =

Reasoning (R).: According to the business entity concept, each business enterprise is
| considered as an accounting unit separate from owners.

Code : d "

(1)  Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) anfl (R) are correct but (R) is not the correct explanation of (A).
B3) (A)is corre-fc but (R) is not correct.

4) (A)is wronlg but (R) is correct.

9.  Which one of the following is not an example of ‘financing activities” with reference to cash
flow statement ?

(1)\ 4 Repayment of bank loan

(2) = Interest on debentures/Dividend paid
(3) Cash proceeds from public deposits
(4)

4 Sale of fixed assets

poosss | TNV
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10. Which one of the following statements is true about estimated costs and standard costs ?
(1) Standard costs are based on scientific analysis and engineering studies while estimated
costs are based on historical basis.
(2) Standard cost emphasis is on “what cost will be” while estimated cost emphasis is on
“what cost should be”.
(3) Standard costs are more frequently revised compared to estimated cost.
(4) Estimated costs are more stable than standard costs. A
rd
11. Which one of the following statements is not true ? ! f
(1)  An expenditure intended to benefit current year is revenue expenditure.
(2) Amount paid for acquiring goodwill is capital gxpenditufe.
(3) Wages paid for installation of a new ma(l:/ltﬂqe is uSulally debited to wages account.
(4) Revenue expenditure is not intended tq'lbenefjt fut1|1|re period.
, /

12. X Ltd. forfeited 20 shares of X 10 each, ¥ 8 called up, o n\"{vhich John had paid application and
allotment money of ¥ 5 per share, of these, 15 shares were zeissued to Parker as fully paid up
for ¥ 6 per share. What is the balance in the share [Forfeiture Account after the relevant
amount has been transferred to Cantal Reserve Account ?

(1) NIL (2) g . 3) 25 (4) <100

13. Xand Y sharing profits in the ratio of 7 : 3, admit Z for 3/7 share in the new firm in which he
takes 2/7 from X and 1/7 from Y. The new ratio of X, Y and Z will be :
1y 7:3:3 | (2 4:2:3 B) 14:6:15 4) 29:11:30

"4
14./ Assertion (A) : j_ high operating ratio indicates a favourable position.
Reasoning (R) : ‘A high operating ratio leaves a high margin to meet non operating expenses.
Code :
(1)| (A) and (Rl) both are correct and (R) correctly explains (A).
(2) ' Both (A) and (R) are correct but (R) does not explain (A).
(3) Hoth (A) and (R) are incorrect.
(4) (A) is correct but (R) is incorrect.
poosss [ LIHANRLANAN 6 Fapec
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15.

16.

17. Which one of th.F following is not the basic property of indifference curves ?
(1), Indifference curves have a negative slope.
(2) ¥ Indifference curves of imperfect substitutes are concave to the origin.
(3) Indifference curves do not intersect nor are they tangent to one another.
(4) Upper indifference curves indicate higher level of satisfaction.

poosss [ LIHANRLANAN 8

The following are the two statements regarding concept of profit. Indicate the correct code

of the statements being correct or incorrect.

Statement (I) : Accounting profit is a surplus of total revenue over and above all paid-out

costs, including both manufacturing and overhead expenses.

Statement (II) : Economic or pure profit is a residual left after all contractual costs have
been met, including the transfer costs of management, insurable risks,
depreciation and payments to shareholders sufficient to maintain 1nvestment

at its current level.

Code

(1) Both the statements are correct. [

(2) Both the statements are incorrect. 4
(3) Statement (I) is correct while Statement (II) is incorrect-.*. f
(4)

-

Statement (I) is incorrect while Statemen/t‘(II) is correct. (

f |

Ty

/ \ . , . :
Which one of the following sets is incorregt to show the inter-relationships among price

elasticity coefficient, change in price and change in o?' revenue ?

Price elasticity Change Change in Total
coefficient in pricei‘,I Rfv'énhuef
(1) Zero Incgasﬁr Increase
]jeq,rease Decrease
(2) Lessthanl .Increase Decrease
"o o5 Decrease Increase
(3) Equalto1l i' | “Increase No change
d ] Decrease No change
_ (4) More thanjl Increase Decrease
f Decrease Increase
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18. When labour is plotted on X-axis and capital is plotted on Y-axis and an iso-quant is prepared,
then which of the following statements is/are false ?
(a) Marginal rate of technical substitution of labour for capital is equal to the slope of the
iso-quant.
(b) Marginal rate of technical substitution of labour for capital is equal to change in the
units of capital divided by the change in the units of labour.
(c) Marginal rate of technical substitution of labour for capital is the ratio of margmal
productivity of capital to marginal productivity of labour. e
Code : /
(1) (a) and (b) statements (2) Only (c) statement { ;
(3) Only (a) statement (4) Only (b) statement !
19. Match the items of List - II with the items of List - I and mdlcate the code of cotrect matching.
The items relate to economies of scale/scope. y \ (
List - I List - II /.-‘ ”
(a) Economies of scale (i) arise with lower averag’é costs of manufacturing a product
when twqg complemeﬁtary products are produced by a
single firm 1
(b) Internal economies  (ii) Mean lowering of %As of production by producing in bulk
(c) External economies  (iii) Arise when cost per unit d‘épends on size of the firm
(d) Economies of scope  (iv) Arfse when cost Jer unit depends on the size of the
- irﬁustry, not the firm
Code : ¥ [ <
@ () (g (d ™
1 @ v @ . ()
@ O @ G
® @ @ o
@ ) @@, 6@ 0
&
20./ A firm that prod:fces'-rhighly substitute goods can adopt which one of the following pricing
strategies ?
(1) ~Transfer pricing (2) Going Rate pricing
(3) " Product blrndling (4)  Full cost pricing
'.
21. In'a perfectly competitive market, a firm in the long run operates at the level of output
where :
(1) AC = MC when MC is lowest (2) MC = AR = MR when MC is lowest
(3) MR=MC (4) AR=MR=AC=MC
poosss [ LIHANRLANAN 1 Fapec
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(c) = faqeafaand (iif) wﬁw@ﬁ%%w SR T W ¥ SRR T Fie el
TS
(d) TR =t fadeafade (iv)"\@éw Bt € 519, 9 SR AT W TN F AR W R
N e &9 R W

(@ () () (d)
@ @ 6 G,
@ @ @) () @
@) ) @@ @) ()
@) (v) @)@ ()

20." ﬁgwaﬁaﬁ%mwwwma forferfian & 9§ Bi-Ht Ha-Frei i w5
Y Hehel €2
(1) # TR0 - (2) =] T HEa-FRo
(3) SR SR (4) YUl T wrEd- Tt

21. @iﬂffﬁﬂﬁﬁmmﬁwﬁﬁétﬁmﬁw%wmmﬁ%ﬁ ST
(1) AC = MC & MC =JaH & (2)  MC = AR = MR & MC =J7aH &
(4) AR =MR =AC = MC
pooss [
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22.

23.

24.

25.

26.

Assignment of numerals to the objects to represent their attributes is known as :
(1) Nominal data (2) Ordinal data  (3) Interval data  (4) Ratio data

A graph of a cumulative frequency distribution is called :
(1) Frequency polygon (2) Frequency curve
(38) Ogive (4) Pie diagram
I:; 1
In the case of classification of data, the class having its upper limit is treated-as th.(er lower
limit of its next class is called :

(1) Open ended class (2) Close ended class f f

(3) Exclusive class (4) Inclusive class

L

r

g1 -
For a standard normal probability distribution, the mean () and the standard deviation (o)

are : &
1) p=0,0= 1 @ f=16 04
(B) =25 0=5 (4) | u 100, 0 =10

Match the items of List - IT with the items of List - I a“g selectsthe code of correct matching.

List - I Ligt= T
4 ¥
(a) Standard error of mean ¢ i Ha:pi#p,
(b) Base of point estimate o& o < (i) Values based on all the observations of
the mean of the popula oh the population
(c)  Non-specific hypothesis (i) Mean of the sampling distribution of
. mean

(d) Parameter valué of ciescriptive statistics (iv) Standard deviation of the sampling
| distribution of mean

Code : »
&
@@ () () (d)
'] o cee - ! .o
(1) (v) () () 5 @
2 @O @ (@) (@iv)
G @ G @ o
4) @) @v) (@O (@)
II'.

27. There is a very high inverse relationship between measures of ‘Overweight’ and ‘life
expectancy’. Which one of the following value of the coefficient of correlation is consistent
with the statement ?

(1) 0.80 0.20 (3) —0.20 (4) —0.80
Foows HIHIHIIII\|||I\H\IIHH||||\|“|\|H||\|“H|||\|\||H|\ 2 Fapec
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22. TGS & TUIEHET i URIA A fa Semsi o fHeeee feg w1 # S S § 2
(1) -fHh Sfihe () HEAYTH ke (3) AU AhY  (4) I 3RS
23. ot SAgra faaRor aret WS i HEl S §
(1) ST g (2) R H
(3) =g faekul (4) TUE M™
24. 3Nihel & THT % AHS H, SR T a1 71 hl 3 ST a7 i |—|Hd<“€P’H1€F"€qﬁglﬂTGnﬁT
T, B F
(1) et gof 2) e 5o
(3) ergasi goft (4) TSR 4T '“E.
25. Weh WS G Wifgehdr faaor & faw, @ () Bfﬁimw%am( )%
(1) wn=0,0=1 (2)M16(r4
(3) =25 0=5 w= 10‘? 10
26. ﬁﬁr-llﬁnﬁﬁﬁﬁr-laﬁnﬁﬁgﬁmaﬁmaﬁia‘ﬁr—@;ﬁ@www:
et - 1 < ff et - 11
(a) T H AEE I Vi () Ha:p# p,
(b) mﬁamwézwﬁgaﬂaﬂm (i) SFHE % TAE YOI 9 STUTRa wH
(c) efafere wfewe - (i) e o Tee fermon w1 Aem
(d) ST it 1 e A (iv) " o e foawer &1 9 fa=em
4 @ (b) (o) (d)
L @) (v) (i) ;i) i (i)
@ () @) () ()
@) @Gv) (i) (@) @
@ @ 0@
27. ‘ST‘F%T_{!TR' 3R ‘S yeamen’ bt HTal o ofte Tk oifd S= wfae Heiy g1 frefafeaa gedsy i
T H & ®H-91 39 FUH 9 GETd 2
(1) 0.80 (2) 0.20 (3) —0.20 (4) —0.80
roosss [ TR 1 Paper.i
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28.

29.

30.

Statement (I) It is a significant feature of human that he plans.
Statement (II) .| - A plan is a trap to capture the future.
C({de :
(1)\ _Statement (I) is correct but (II) is incorrect.
(2 " Statement (IT) is correct but (I) is incorrect.
(3) Both the statements (I) and (IT) are correct.
(4) Both the statements (I) and (II) are incorrect.
poosss 1IN 1

Match the items of List - IT with the items of List - I and select the code of correct matching.

List - I List - II
(a) Chi-square Test (i)  Testing the significance of the differences of the mean
values among more than two sample groups.
(b) ANOVA (F-test) (i) Testing the goodness of fit of a distribution
() Z-test (iii) Testing the significance of the difference of the mean
values between two large sized samples
(d) t-test (iv) Testing the significance of the difference of the mean
values between two small sized samples when popmlatmn
standard deviation is not available {
Code : f
@@ (b) () (d)
® @O @ @) (@)
@ () G 6@ 6 W g
G @O @ @) (i £ -
@ @ @ @) @) / |

Match the items of List - IT with List - I and choose\th \correct code :
List - I List - II ;, }

(a) Sales Executive (i) Top- middle Mana ement’’

(b) Branch Manager (if) Middle Manageme%\

(c) Foreman (i), L wer Management

(

d) Production Manager (1 ) | Operatmg Force

Code :

@ (b (9. (@
1) (v) @) ()@
@ G G ) 6 |
G) ) @), @ @
@ O ) *ﬂ(ﬁi) (iv)

Select the correct] code of the statements being correct or incorrect.

Paper-II1

www.examrace.com



28. EIT - I 1 7&I ol Tt - [ 1 A1 § Gafera Hifse 3R 9& gAe a1el e ol 997 Hig :

et -1 et - 11
(a) WE-TRM T () < e gfaest WEl o o9 T WM o Sl ot wrefehdl 1
e
(b) AN (F-2%) (i) TorXor st Femefar w1 W
) SE-TW (i) aﬁa@m%uﬁaﬁ%sﬁaanﬁ%waﬁwﬁww
Tlieror f
d & -T= (iv) & SEE 7w foreer mqﬁwmméﬁ)m
%aﬁanwwﬁh%waﬁwﬁwaﬂqﬁw
<
@@ (b) (o) (d)
1 @ @@ @) () (1
(2)  (v) (@) (@) @) y &
G @ @) (@v) (i) ’
4) @) @) @) (@) . ,.r/.(
29. W-Ilﬁﬂﬁﬁwﬁ-laﬁﬂﬁﬁgﬁmﬁﬁqamfﬁﬁwwwaﬂﬁq:
et -1 et - 11
(a) EoH TerHfeq () eE-HE yeEA
(b) T YeiErR (i) WA GEEA f
(c) HRAT (i)™ ﬁ&l ECLE]
(d) 3R yaUH ( i)l S
T
(@ (b) (o)« (d)
1) (@v) @) @)D"
(@) () (i) @) 6 |
(3) () (v) ') @)
@) (@) ()4 G (@)
30.( ﬁmmﬁm{fmwaﬁw‘mﬂaa@wwm :

HYA () : TG & I @ foRivan ¢ fof g s aam 2
R (1) : ST Jfas i 20501 | 3 are el Bt § |
7 |

(1) e (1) et € febg (11) T 21

(2 W(H)W%%(I)W%I

(3) e (1) 3R (1) S & T E

A (1) 3R (1) <1 2 7Terd & |

yoosns [ FITHANE .

~— ~— ~—
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31. Assertion (A) : Management is a set of principles relating to its functions.
Reasoning (R) : Management is essential to run all types of organizations.
Code :

(1) (A) and (R) both are correct ; and (R) is the right explanation of (A).

(2) (A) and (R) both are correct ; but (R) is not the right explanation (A).

(3) Both (A) and (R) are incorrect.

(4) (A) is correct ; but (R) is incorrect.

Ty

32. Match the items of List - IT with List - I ; and choose the correct code :

List - I List - IT {

(Critical Control Standards) (Critical Points) { F
(a) Physical standards (i) Material cost per unit
(b) Cost standards (i) Labour hours per unit of output
(c) Revenue standards (i) Timing of production i f
(d) Program standards (iv) Average sales per customer |
Code : -

@ ®) © (@ ,,f‘(
W @ O ) G [\ |
@ @ O @) @) * ‘ '
@) O @ ) /
@ @ O G G ST

“{
33.  Which among the following is not a f:orrect statement|with regard to Corporate Governance

in India ? - d
(1)  Every company must appéint an individual or firm as auditor.
(2) The independent directors must attend at least three meetings a year.
(3)  One or more women directors are recommended for certain classes of companies.
(4) The maximum Pumber of permissible directors cannot exceed 15 in a public limited

company. ' (

34. The popular st%ement, - “if all you have is a hammer, everything looks like a nail”, is given

by :

/ (1) A.H. Maslogv (Hierarchy of Needs)
(2) Henry Fayal (Industrial and General Administration)
(8) _F.W. Taylor (Scientific Management)
(4) .. Fredrick Herzberg (Hygiene Theory)
|

35. Functional Leadership Theory is associated with :

(1)\ o Hackman and Walton and McGrath

(2) = Bernard and Ordway Tead

(3) Koontz and O'Donnell

(4) Alford and Beatty

poosss | AN
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31. AfeRed (A):  WeleH YRl @ Geifua fagial @1 99e T
e (R) : A YR o TSI o Fde & o JeE STavas ¢ |
<
(1) (A) 3R (R) I T € 3R (R), (A) H T =02 |
(2) (A) 3R (R) S W& &, fhq (R), (A) FT HEI =0 T 2|
3) (A) 3R (R) I Temd
4) (A) ®@ g, fohg (R) 7@ .
32. ol - I ! #&i &l Gt - [ & FQl 9 GAAA HiTC T &l He I =91 hifeg | i
et - 1 T - 11 ; ;
(g EEuT | ) (wEfterTeTeh foig)
(a) oifqew A () Ufd 3RE AR ArTa
(b) T HHh (i) srﬁrssﬁéwm%h;ana%
(c) I HITh (i) SIS =1 gea- e |
(d) R AH (iv) wfﬁf TEh eﬁm IEED]
%< / '
R (1)
11 1 v 111
(2) (@) (@ @) (i) ./ .
®) @ (@) (v) (i) —
4 (@v) @@ @) (i) 4 f
33. Wﬁﬁtﬁ%ﬂﬁﬂﬁﬁﬁﬁ%ﬂﬁ?—@%ﬁ@ﬁ%?
(1) I w1 fenelt safsr g wH 1 Sishersh % &9 § R w31 STevash el ¥ |
2) Tda fRweR o H FH--FH 99 SSH B IR oA a9 7
3) F© AR F gl o aelt SufTal % fore wew a1 Afees wfeen feweht st Hegfa st St g
(4) foeh wdsts fafres J{ ot B STEE el @t eifuehan de 15 9 sifuss = 2 gt |
34. UT AKGA HF, - A SYF UH FoA AR TH gUiel € T R-THh =il il i e fe@re ot
&, Fr # | folre 0 fopan N B2
S (1) T ARl BRI S ew)
L (2 TR WA (fs‘éﬁfa?m 2Iq U e TESfAegem)
() TURTHY, TR (WEfefre HasHe)
(4) . el sw?Tli (TSt AR
35. mﬁaﬁraﬂﬁq@ﬁ frr & 9§ forad Heifia €2
(1)‘ BRI T aTeed qen B
(2) ~ Al T #a I
( ) W@r SIS
4) ATHIE TS o|¢¢|
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36.

37.

38.

39.

40.

When two separate companies or two divisions within the same company agree to place
both of their respective brands on a particular product or enterprise, this arrangement is
termed as :

(1) Differential Branding (2) Cobranding
(3)  Dual Branding (4) Both Cobranding and Dual Branding

The tangible goods for which a consumer wants to compare quality, price and perhaps style

in several stores before making a purchase are called : p

(1) Convenience Goods (2) Shopping Goods {
(3) Speciality Goods (4) Unsought Goods J

v

.

When a company treats each single customer as a separate segment, this is called :

(

(1) Niche Marketing (2) Nano Ma‘rﬂketing
(3) Single Marketing (4) M‘i‘:ro MarKeting

/ f

| | )
Under which of the following conditions, the level })ifonsumer’s involvement will not be
high ? :

(1) The consumer considers the amhount of money 1?Volved to be large.

2)  The product is seen as having il\ow potential for providing significant benefits.

(2)
(3) The consumer lacks 1nf0fr£1ati’on about alternatives for satisfying the need.
(4)

4) The product has considerable social importance.

i,

Statement (I) : Thefmindset which is commonly associated with a long - ago era when the
demand for goods generally exceeded the supply, and the primary focus in
! business was to effectively produce medium quantities of products ; finding

* 4 the customers was viewed as a relatively major function.

f offerings while assuming that customers will seek out and buy reasonably

Statement (II) : “The firms with product orientation typically focus on the quality and quantity
priced, well made products.

From the above statements indicate the correct code of being statements correct or incorrect
The statements felate to concepts of marketing.

(1) Both the statements (I) and (II) are not correct.

(2) ¥ Both the statements (I) and (II) are correct.

(3) Statement (I) is correct but statement (II) is not correct.
(

4) Statement (I) is not correct but statement (II) is correct.

poosss | HEITHANNAN s
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36. 9 I STAT-TAT HEITAT o1 Teh & HFIH] o & YU 3Tq-3T94 Si[Ue] ] Toh & fa9iy Scare =
fS™ T WA 3 € A 39 WhR i e Hl hed §
(1) Ty wifven (2) SIS
(3) <l wifven (4) IS T SRl SifveT
37. & Hd IEGHI hl hig UK TOTerI, liwmwmﬁmﬁfm@ﬁmaﬂﬁ@tﬁw
AT AT & A 3R Fed © - /
(1) e @) e T r y
(3) fafere e (4) o Y
38. S WIS I 3T Yuh Tehal SUHIKI ! Th W@gﬁ?mﬁ{ﬂﬂﬁﬁ%ﬁ@;ﬁﬁ g
(1) = feromE (2) f\ﬁrﬁmf
(3) THSA fomum ;ﬁﬁaﬁ %FWUFI
39, ﬁwﬁmawmmﬁmmasm@ﬁ%&:ma@mv
(1) Suviie aftwfad o= i fe 1 Tfee qear €1
) m%mm@wqéﬁeﬁﬁtﬁmwé@s{ﬁ@
(3) Afe IJufrerm & U Wﬂﬁneﬁ{ﬁ T ATl foshedl o o H =1 i HH D
(4) 3fe et Serg o1 ATy |, Teed o |
40. M (I): g T3 I & T T T 3 STIER T FROTR G A, g & e At of
T SR F YT AT U § a3l ol THIERIEH €9 H Scaed AT gl o,
wgﬁwﬁ@@mmmﬁwg&qw&mﬁé@ww
R (I0) : IR IR ATt TH I8 A T Toh ST TohETd o defl, ST=s! T[ura &l
gl Erei7, fafime &9 | Seurei § Turerl Te W W A higd i §
IUUeK] AR W Rl o W&t A1 Meld 8 % G H W& e 30 wifSel e faquE &
aqawsﬁﬁaﬁﬁ%%
(1) e (T) 991 (I1) S &2 e 1
(2)‘ J A (I) T (I1) ST Tt ¥ |
(3) Fo (1) T ¥ g we (1) T ¥
(4) U (1) & & § Tg HAA (1) §L B
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Match the items of List - IT with List - I to identify the correct code which are related to legal

List - II
A regulation specifying the proportion of a finished
product’s components and labour that must be provided
by importing country.
Tax imposed on product entering a country and used to
protect domestic producers and/or raise revepue

A requirement that a product contain or exclude certain
4

ingredients or that it be tested and certified as gneeting

certain restrictive standards. f r

Limiting amount of a particular product that can be
brought into a country, to protect domesti¢ industry or
broadening access to its markets. F

A refusal to buy products from a Particular company or

country. -

on how,l'when or where retailing can be
conducted! |

A constrai

Match the items of List'- IT with List - I which are related to personal selling process and

List - II
Attention, Interest, Desire, Action

Identifying Profiles, leads, Records and Qualifying
capability and willingness

Reduce Dissonance, Build goodwill

Information, habits, preferences

41.
forces affecting international marketers.
List - I
(a) Tariff @)
(b) Import Quota (id)
() Local-content Law (i)
(d) Local-operating Law (iv)
() Standards and (v)
Certification
(f)  Boycott (vi)
Code :
@ (b) (9 (d) (o)
V) (@ @ @ 0O
@ &) @) O (v (i
@) @ @) 0 ) @@
@) @) ) 6 @) i)
42.
identify the correct cbde : (
List-1 |
(a) Prospecti&g @)
_ (b) Preapproagh (ii)
(c) Presentatiolfu Ir (iii)
(d) Post sales services (iv)
Code : |
L @ (B (o) (d)
M0 ) () G
@~ v @ 0
€) (ii) (iv) (i) (i)
4 Gv) (i) (@)
o HIHI\IHII\
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41. G - 1 93] o et - [ Al § 5 oid g HE FHhe 1 =997 FifaQ il foh s forqoe
Fateti R fafess wfell & gama | wrafa €

Tt - 1
(a) I Yk (2Rw) (i)

(b) ST I (i)

(c) THrE-AET I

(d) TR aiEe fHEE

gl - 11
T AT S ST S ATl HEAT o o) H I8 T HA
g T ufiqol S & e wE 99 v AneH sifed w9 9
foa B |
Tohell 1 H JeI9l i olTel 3ed1E W oY STRITUG Y Bile] ScdTeehi
I A AT TS G |
T ST foh UG $© 3T69d Tl %HTH%"TT@HT%&?W
THHT T A1 JHUE TR S ® i 38 $o fame At
%1 I HET BT S |
ﬁe‘t%ﬂéﬂﬁ%%@ﬁmaﬁﬁrﬁmwaﬁmm%
fSreg =] ) <l e 1 T ISR | Ugd I
sgrn s ww 4

() TE TS JHAH v) ww%éﬂ%maﬁ@ﬁaﬁwwﬁ|
(f) dfE=PR (vi) feefen &, mﬁwﬁmwmqﬁam
<
@@ () (@ (@ (e (@ . 4
(1) @) (@) @ 6 (D) (g, {
2 (v @@ @ @v) @D ¥ -
@) @ @) @ (i) @ (y
@) (v) vi) @) (i) __ih)a v)
42. GE- 111 TG 1 Gl - Iaﬁﬂﬁ@gﬁmaﬁﬁqﬁ%éﬂwmmﬁwﬁ%%amq@
e T T HISTC
T -
(a) qA&H 4 () HEEM, ¥4, T99, SR
(b) WS (i) UIHEA UBEHAL, AN dGHl, RIS aFFT qo1 HaHdl STEdl
F QEAl g ESINENAL
(c) TEfasTT | (i) ST A AT, |G A
(d) fosra e=mg Herg (iv) G, STEd qe yefaehand
e : |
L @ () (9 (d)
My @ @) Gv) (@)
2) = @) @) @ @
(3) (ii) (iv) () (iii)
(4) (v) (i) (iD)
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43.

44.

45.

46.

47.

48.

49.

poosss [

Which of the following is not an approach to the Capital Structure ?

1)
®)

Gross Profit Approach
Net Income Approach

)
4)

Modigliani and Miller Approach

Net Operating Income Approach

Which one of the following methods of Capital Budgeting assumes that cash-inflows are

reinvested at the project’s rate of return ?
(2)
(4)

(1)
®)

Cost of Equity Share Capital is more than cost of Debt because :

(1)
(2)
®)
4)

f
Negative Net Working Capital implies that : /

1)
()
®)
4)

Net Present Value

Internal Rate of Return

Equity shares are not easily saleable.

Equity shares do not provide the fixed dividend rate.

Accounting Rate of Return
Discounted Pay Back Period

v

.

Generally the face value of equity shares is less than the face value of debentures.

Equity shares have high risk than debts.

Long-term funds have been used for fixed ass

Long-term funds have been used for current assets.

-

Short-term funds have been usb,dl‘for current asgets.

[

-

| )
ts. |

Short-term funds have been used for fixed asset:

{

Which of the following is an iirlfliat cost of increasing proportion of debt of a company ?

1)
()
®)
4)

P.E. Ratio of the company would increase.
Rate of return of the company would decrease.

Tax-shield would hot be available on new debts.

i
Equity shareholders would demand higher return.

Profitability Index of a Project is the ratio of present value of cash inflows to :
Total cash Tlo_ws

(1)
®)

Which one of the following statements is false ?

(1)
(2),

Present value o-'f cash outflows

(2)
4)

Total cash outflows

Initial cost minus Depreciation

Effective dividend policy is an important tool to achieve the goal of wealth maximisation.

According to Walter, the optimal payout ratio for a growth firm is 100%.

(3) ¥ MM model asserts that the value of the firm is not affected whether the firm pays

4)

“ dividend or not.

‘Bird-in-the-hand theory’ in reference to dividend decision has been developed by Myron
Gordon.

22
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43. frafafea § & FH-91 JoH-2= 1 TH U & § 2
(1) Hehol-oH 3UMH (2) s HHH A SUIH
(3) W& Y 3UrH (4) Wifeferart R faer 3amm
44. S se1e =t Frefatea fafeei & 9 fa fafy § = am sma € & s st 9fEsm ot gem
R W [ g < 2
(1) s A geA (2) oREE TEE W
(3) IR YA (4) TEThd YERA ary :
45. T Y S H AN, O H AN AR SRt © AR - : -.1‘;
(1) Far 3fe st & fosha arg =1 & €1
(2) THCT 3T T AT S YSH & A T |
(3) THaT ¥ w1 SifRd YoI HHERI: W%WW@W@W%|
(4) a3, HOi 9 Aferes SfEaget 2 €
16. W@Wﬁaiﬁﬁaﬂﬁm%%: /
(1) <TeIhTeT= ShIST 1 ITANT TS FHqal T fohal
(2)  SACURIC RIU T ITANT T8 Grafadl &g fohan g
(3) aﬁwﬁ?aﬁﬁww%wﬁ?ﬁ%@mw
(4)  STCURTA hIHT hl STAT dlqﬂqﬁﬁ%ﬂﬁmw%l
47, e e st 96 s et 8 4 e 6 A
(1) e % WE. e § ghger s |
(2) HFIAT I GAE S H HHT Bl SR
(3) A RN W H-BIA SUeT T B |
(4) mmmﬁmwsﬁrmwﬁaﬁm
48. ?WW?%GM%GI Ahich Uehe 3Tqaial o adHM Jod o1 FeAfafad 9 frget T 31ar
2
P i s RISSER A MR R
19, W@aaﬁﬁﬁﬁq—m@m%?
(1) JTEt i Afq oF StfereRaHRTer 3Rg Hi Wi o f T Heeyul SueR € |
(2)\, T % STTER, T foepraeiicl wH &1 STIHeran U-373e ST 100% Bl & |
(3) » TH.TH. HIREY ¥ S R e & & o W e WO W T TS & e HH A1
T A & Ao 7 |
anvie o 3 G § ' a2-gA-3-Tue o’ o foreRre Tre A gr feRn e ¥
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50. Which one of the following statements defines the correct meaning of the term “boundary
spanning” ?

(1) Itrefers to an obligation of an individual, firm or institution to account for its activities
and accept responsibility for them.

(2) It refers to the process that helps the organization and its employees to link with their
external environment through specific activities/functions.
o
f
(3) It refers to the science of morals, principles and rules of conduct. 4

r
(4) It refers to multiculturism management. J

e
51. The VRIO framework, used in HR function in today’s era, refers to four criteria. Identify the
correct code which stands as correct explanatiyﬂ' to VRIO as proposed by Barney.
|

(1) Valence - Recruiting - Industrial relati(l){'ls - Opportunities

(2) Vision - Rewards - Improvements - Options ‘j

F
Fd
-

(3) Value - Rarity - Imitability - Or‘ganization {

(4) Versatile - Resource - Info‘ﬁtn%\gon Outsourcmg
H '

52. Assertion (A) : Inductionis an informal information sharing session on miscellaneous issues
in ah orgfmization.

Reasoning (R),: The rationale of induction is to ensure effective integration of staff into or
& across the organization for their mutual benefit.

r- J*l 1’
. Code : f 4

(1) Assertion (A) and Reasoning (R) both are correct and (R) is correct explanation of (A).

(2)'. Assertion JA) and Reasoning (R) both are correct but (R) is not the correct explanation
. of (A).

(3) " Assertion (A) is correct statement but Reasoning (R) is an incorrect statement.

Assertion (A) is an incorrect statement but Reasoning (R) is a correct statement.

poost H|H|H||H R
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50. f # ¥ ®F-W FuF aked | (Boundary Spanning) % 7%l %l Sleh-dleh SHMEATId Ll
@7

(1) I foreht afem, wH, A1 G St Afafafel o Tia IHeh! STeGal a1 3TH 3= ITGII@ i
R 1 T T T

(2) IT 3T UlshAT I T a1 § TRt v | Hire iR 36k WWWWH@/
foranatl o ATeam | ek oTRT Aol ¥ THe: Tfd ohid © | [

3) ¥ faer foaam, fagidl o) steror & frel o S e B | (
(4) % SEUERIGATE YeEA I HefHa i 7

51. 3TSIohel WG HHIEH Tihal § Y o.3TR.3TE.31. (VRIO) mﬁwwawmﬁ?ﬁﬁ%l EIRIR-R
TEdIfad ). 3TR.3TE. 371, B i Wel el qo{ﬂmé’{hlsaﬁqﬁﬁaﬁﬁq

(1) CGE (Valence) - TGRTET (Recruiting) - 3@'@?[ ﬁﬁ'ﬂ'@ (Industrial relations) - ST
(Opportunities) )

(2) fasH (Vision) - RET€d (Rewards) - 3FgaHH (Imp’rqvgmeﬁts) - 3AT9YH (Options)

4 (
3 Value) - W (Rari -ifnﬁ‘l%ri‘wh itability) - STHAESISH (Organizati
(3) g (Value) ( arl’f}’% (Imitability) (Organization)

(4) THITEA (Versatile) - REH (.Resqource) - STRHYE (Information) - ST (Outsourcing)

52. AR (A) : ﬁmﬁﬁwﬁ@ﬁwﬁmww@m%ﬁ@ﬁfw@mww
ﬁ@n'cﬁ%

e (R) : ﬁWwﬁﬁmWﬁﬁwWﬁawW%ﬁﬁaqﬁﬁWWﬂ
?’ﬁ«rq‘;mﬁ TehTeRTUT G & T

<

(1) = eAfrper (4) A1 q (R) SH1 31 § 3R (R), (A) F SH-S1eh e FI B
) afwm(A)amaé:(R)ﬁaﬁ%%éﬁm (R), (A) &t Sleh AT Tel T ¥ |
(3

) 3,TFW9FI(A 3k HeA T, foheg T (R) Sioh oM T 71
(4) 3fyeweA (A) Sk oM &l § fohg d (R) 3t & T
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53. Match the items of List - IT with the items of List - I pertaining to the ranking methods used
in performance management systems ; and select the code of correct matching.

List - 1 List - II
(Ranking methods) (Methodology)
(a) Simple ranking (i) Based on overall performance.
(b)  Alternation ranking (i) Ends up with predetermined number of people in
each group.
(c) Paired comparison (iii) Based on particular trait only for quantsit:y/ quality
of work. /
(d) Forced distribution (iv) Based on a trait or a set of trait and avoidgl central
tendency. f f
Code :
@ b © @ | ,
W) @ G @) 6 L €
@ O Gv @) @ P
@) v @ @6 ) y |
@) @ 6 @ W) F 1

54. Assertion (A) : Compensation has two vital domai"m?éconorrﬂc concept and psychological
¥ r

concept. y
Reasoning (R) : Compensation basiq@ll{y represents z'h:er}lployment contract.
Code : -
(1)  (A) is correct and (R) is iﬂf'ltﬂ'explanation of (A).
(2)  (A) is correct but (R) is_no% the right explanation of (A).
(3)  (A) is correct but (R) is incorrect.
(4)  (A) is incorrect'but (R) is correct.

i
55. Which of the following is not the primary objective of industrial relations and labour laws ?

(1) Maintaim'gg social equity (2) Providing credit facilities to industries
(3) International uniformity (4) Promoting economic growth

56. Assertion (A) : fn real terms, workers” participation in management has failed in India.

Reasoning (R) : There is lack of attitudinal change, multiplicity of unions and absence of a

| procedure to determine a sole bargaining agent in an organization.
C(Ide :
(1)% , (A) is correct and (R) is correct explanation of (A).
(2) . (A) is correct but (R) is not the correct explanation of (A).
(3) (I‘\) is correct but (R) is incorrect.
@)

pooss [[ [

(A) is incorrect but (R) is correct.

il Z
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53. fToures yeive a5 § e Fuitenr faferei § wsifid gt - 11 731 o1 et - 1 i 7al & e fiem

54.

55.

56.

yoosns [ FITHANE :

Y qAT e FASH T =T hY
el - 1 gt - 11
( grufieRvur fafir ) (wfafer)
(a) T FofiR () FFgol AR STenfia 7
(b)  SREIAOT HUfteROl (i) T TR H qEHiRG S | Sl o SH g ¢ |
(c) Ifud qer (iii) et fAfvaa <& & SMYR W el S ST 7= A
T[T T ST B /
(d) o S (v) Tt W @O sreen el % HYE W wmﬂ{aﬁaﬁ
FelT g il STRE! HI A T
< :
(@ (b) (o) (d)
iy PR
®) Gv) @) (@) (i) ,.f/‘(
4) @) @) @) (@) / -
AR (A) : &Tﬁﬂ{ﬁf%amaﬂéﬁ%—aﬁ%%ﬂ AT TSR ST |
qeh (R) : aIffd STURT T & oo STad 1 Fiaffe i ¢ |
%< A { (

(1) (A) 2 € T (R), (A) 1 3fed prren s gl |
(2) (A) 3 & WAfR (R), () S e & 2
3) (A) 3 T, AR (R) T & |

(4) (A) e €, AR (R) STk 2

ﬁwﬁmﬁﬁaﬁwﬁ%ﬁﬁﬁaﬁaaw T AL 1 Mk e & 7 ?
(1) SIS 9 oA T (2) TN I R0 Gfaem 9= w1
(3) = UL FAHET (4) et gl 1 dicarfed e

, AR (A) : ﬁﬁﬁ%aﬁﬁwﬁuﬁmﬁaﬁaﬁaﬁwﬂmﬁm@%l

e (R) : TireHl | eAfigites aftad= o1 1919 €, 99 Gl i Sgerdl § q97 Ushel digsrsit
. \ fafafy fruifa e =1 wfsen srufeea 1

|
e
(1), (A) Stk &q (R), (A) I Stk =& 6Tl B |
2). (A ) Sk T, AR (R), (A) T Stk AT &l L B |
3) (A) S+ B, AAfewa (R) T B
(4)

(A) T4 ¥, AfHA (R) S T

N
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57. Which one of the following is not the function of NABARD ?

(1) To provide refinance assistance by way of short term credit to state cooperative banks
and sectoral rural banks, etc., approved by the RBI for some specific purposes.

(2) Toundertake inspection of cooperative societies other than primary cooperative societies
and RRBs.

(3) To promote research in various aspects of the problems of urban development.

(4) To subscribe to share capital or invest in securities of any institution conqerned with

agricultural and rural development.
4

{

58. Which one of the following financial institutions co-ordinates the functions and oper?itions
of all the financial institutions into a single integrated financial structure so that each may
contribute to the growth of the economy ? . v

(1) IFCI (2) UTI (3) IDBI { “(4) SIDBI
g ™ |i
-
59. Assertion (A) : The Reserve Bank of India is,.fentrusted with the management of the public
debt and issue of new loang and treasury bills on behalf of the central and
state Governments. f gv

Reasoning (R) : The Governor and the Deputy G e.{'i‘nors of Reserve Bank of India are
t

appointed by the Central Governm

r
J

F
Fd

-

Code : & I (
(1) (A) is correct but (R) is n%coﬁect
(2)  (A) and (R) both are corfregct but (R (R) is not the right explanation of (A).
(3) (A) and (R) both are correct and (R) is the right explanation of (A).
(4) (A) and (R) both are not correct.
i.
60. refets to the process of removing or stripping the legal status of a currency.
(1) - Digitisatign (2) Financial Inclusion
£ 3) Demonetisa?tiox_l (4) Micro finance

61. Which one of the following is not the objective of UTI ?

(1) To mobilise savings of the community by offering savers the triple benefits of safety,

liquidity and profitability of Investments.
\
(2)\ . To channelise the pooled savings into productive outlets.

)
(3) = To provide finance under hire purchase finance and housing finance to its members.
)

(4) To give every one a chance to indirectly own shares and securities in a large number of

select companies.

poosss || I 2
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57.

58.

59.

60.

61.

frefafaa § @ sHar Aere &1 & T8 § 2

1) o faftre wEeH & fau arde (S d gR STTHIfCd T59 TehRl Sl T8 &ateh JTH
SRl enfe 1 sTeurafy 0 YeH HH & G G-I Yl Y& AT |

(2) e Heehrl Sl $iR SRS, o STaTman o1 Hehil iHfaa s e e |

(3) el fowra i wmeEnstl & fafvus weqsli § STHYE &I dem@n < |

(4) ﬁ@Wﬁwﬁﬁéﬁ?ﬁ?ﬁWaﬁWﬁﬁmmmuﬁWﬁﬁaﬁ
FHEAT |

L
forrfefm & & -9 fadi den w o Sl % Y ue e @ i T
foritsr e o gufad el & aifs g stefeaen & fashmd o e X °oh 2
(1) SEuhrdaE (2) I3 (3) RSN ~4) g

. ' (
AT (A) : ST frod e 3 S e e A o e o ) v 7
3R 7T ol TR SRt forell SRS g o1kt didm 7= |

FROTR): R o e 3 TR 6 et TR e TR g R R
(A) T & S (R) T T E 1 ’ sadid
(A)@R(R)aﬁﬂé%mmgm)aﬁa%?wﬁ%
(A) 3R (R) 3 e &, S (R), (A) 7 T = ¥
(A) 3R (R) ST =& 7 2|

wgmaﬁﬁﬁiﬁﬁsxﬁraﬁﬁzﬁmﬁaﬁmaﬂm%
(1) fefSeeirto ) fo<ita wEERE
(3) fogETetom (4) 9 fora

ﬁwﬁr@aﬁaﬁﬁmiﬁmmﬁwﬁ%?

(1) w=ashatedi @l el o gf e, a¥erar SR ayuRar o fagk el o1 IerensT ik THeE 9
S e

(2), UK TS Td-URT ol IEeh ¥ H T

(3) " TR WS A SR BRMET wEAN & Sfaid sk 9eel &l foa gfawn <)

(4) o S T oS we T g et 6 S ok ffe 1 s w9 9 i
T T STAE A
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62. Which one of the following is the main objective of IFCI ?

(1) To offer both small and large investors the means of acquiring shares in the widening
prosperity resulting from the steady industrial growth of the country.

(2) To upgrade technology, modernization and to promote marketing of products of small
scale sector.

(3) To serve as the apex institution for term finance for industry with coprdination,
regulation and supervision of the working of other financial institution. /

(4) To provide medium and long term financial assistance to industrial undertakings,
particularly in those circumstances in which banking accommodation is in appropriate
or resource to capital market is impracticable. ) ¢

s N |i

-
63. Match the items of List - IT with the items of }4:; -Iand I-indicate the correct code :

/ , |
List - I | List-II /

(a) Term finance (i) Providing finance t»j new or, existing industrial units for
encouraging commercial’application of technology/
expansion.

(b) Refinance (11)1“!"M BRelivering of banking services at affordable cost to the vast

V1 sections of disadvantaged and low income groups.

(c) Financial inclusion @ (iii) Providing replenishment finance to eligible institutions for

g1~ their loans to industrial concerns.
(d) Venture capital (iv) Providing finance to the borrowers for expansion and
' modernization of plant and equipment.
|
Code : #

@ ® (o0 @
M7 6 6@ |6 )
@, @ @) Gv) (i)
) "G G @) @)
( i)
|

) )0 G
LA

4

iii

) (
Al

)
poosss || \ .
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62. frAfafead & & HiFw o1 Uk o eTE. 1 7= 399 2

(1) o9 T oS Sl Fawehi o1 29 % frer sienfires foepra % wRum sy sme g 9yfy § 9
B A o TIEET bl USRS AT |

(2) T &3 % ScUGI i YIENTeR! 1 S8 AT, STFTRIHIU Tl IR fa90H =l sgren <

(3) o1 foxita Heen =it wEd-yomelt & T, fafa ok weas & Wy e & fag wmafy
for o feru it e o &9 § Fa 9eH | Ve

(4)  eienf S @, fae 37 uRfeerfwil § Hem erafy ofv < srafd @t w0 wemE wew
1 o Sifeht gferen Suegert 21 = gil aSIR & i weeE et 8

- N L E
63. - 111 Wi &1 it - 11 TS % ooy Gafer s ik @l e 3 1 -
/ [

el -1 fﬁ%ﬁ-'n |
(a) Wty faa ()  UrEnfiERt & / ToredR =1 HiemTfed hid o forg
q‘émﬁ%@rsﬁa‘lﬁm{mﬁfﬁﬁﬁﬁéﬂl
t"x
(b) YAl (i), <0 T o769 S TRl & S ol B R e W

y ¢ S e v
() S i) T Hensl W SefTE Bt % wh et W %

g fod 9o |
@ e ) e Rl ¥ e T e ¥ o R
4 a1t @l fod 9eM ST |
[ &e: ‘f ,
@ ® © @
W76 6@ |6
@6 @ @ @
@@ ) @ 0
@ @ G 6 G
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64.

65.

J-00818

)
Il

Assertion (A) : An export processing zone is different from free trade zone as it promotes
units primarily devoted to exports.

Reasoning (R) : Goods imported to a free trade zone may be re-exported without any
processing, in the same form. But, goods exported by units in an EPZ are
expected to have undergone some value addition by manufacturing/
processing.

Code : i

4

(1) (A) is correct and (R) is correct explanation of (A). {

lp' [

(2) (A) is correct but (R) is not the correct explanation of (A).

(3)  (A) is correct but (R) is incorrect. el F

1 .
(4) (A) is incorrect but (R) is correct. /,/ B E
-
f i
/ , !
| f
Match the items of List - II with the items of List - i‘rel iting to liberalisation of agricultural
trade. ff
List - I List=1r *
Y 4
(a) Tariffication -« (1)( They have démonstrably adverse effects on other
V4 “ member countries.
(b)  Prohibited subsidies (i) They act on goods which are contingent upon export
performance.
il -
(c) Actionable subsidies | (i) Replacement of existing non-tariff restrictions.
(d) Non—acticalable subsidies  (iv) For industrial research in disadvantaged regions.
" Code : ‘f
(@ (b) (o) (d)

M @) ) [ @)

@ (v 6 @) )

@) @) @@ @ )

4 iv) (i) (i)

(i)
I

(i) - (
il
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64. 3R (A) :

T faia TRFET SiF g SR S W ST Bl § i I8 9 et w6
Tuftd gertgal ! ST a1 § |

SIT (R) : T AR ST H STEfad aeqe S& €9 # foa1 fopelt grife < qaf-aifaa st s
gehdl €1 Aferd, Th WSS, (EPZ) § sohreal g/ faifaa awged @ fafmfuy/
TRFET R $ Joa-GHard &l ST0&T Y S §

<< :

(1) (A)WE ? 3R (R), (A) H W& = T . "‘(f'

2) (A) T@ § AfFEA (R), (A) F & = T

3) (A) W& ® Aferd (R) e 1 4 *E_

4) (A) W & AFFT (R) TE B A 7

F
J

65. It - I1 ! Hal <l i oqlwﬁwflohwl@Fﬁf%%ﬁﬁﬂﬁ%wagﬁﬁﬁﬁﬁ:

it - 1 ¢ it - 11 ‘
(a) TYThHIHI i‘\@{ mmmﬁmwmﬁgmqmm%n
{
(b) Tifvg enfid-wemar ™ (i) O UE a&gell R W w0 € S i e R seafted

() HHaE-Ar sfr TR

g
(iii) Ho[ET TR-UYeeh Hfaeei a1 gfaeeme

ﬁ'{—aa‘ri‘q'l%?ﬂﬂ'q Y Temdl (iv)  afaa &ni § Siieinfits stgdem & fog

(d)
@ () f) (@
M @ @6 )
@, 66 G
O 6@ @ 0 @
@ @ () )
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66.

67.

poosss []]]

Match the items of List - II and with the items of List - I relating to WTO impact :

List - I List - II
(a) NAMA (i) Liberalisation of international investments.
(b) GATTS (i) Includes industrial goods, textile, jewellery, fish and fisheries
product manufacturing industries. -
o
f

(c) TRIMs (i) Liberalisation of trade in goods and services. r;
d) TRIPs iv) Provides monopoly power to owners of intéllectual proplerty.

poly p property
Code : : Y

y
@@ (b) (o) (d) ¢ |
*

1 @ @O @v) () J;/K !

§ | I
@ (v @ @) @ / \
G @) @) @O @) d’l
@ @) @ @ 0 4 (

</ '
| Y

Indicate the correct code of the following statements being correct or incorrect. The statements
relate to the type of transactions recorded in the current/capital accounts of the Balance of

Payments. g1 -

Statement (I) : | The capital account consists of long-term capital transactions only.

Statement (II) & The current account includes all transactions which give rise to or use up

/Fati_onal income.
Code :
(1)~ Both the s}atements are correct.

(2). Both the statements are incorrect.

J

(3) " Statement (I) is correct while Statement (II) is incorrect.

(4) Statement (I) is incorrect while Statement (II) is correct.
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66. T - 11 i T3l o1 T, 2131, YWE % Heole § el - [ &1 71 o 1ol gafad &1 -

et -1 et - 11
(a) TATTAT, ()  sfadeta faer s e
(b) StTIAATE. (Fm) (i) TN axE, HIS, SMYUY, A 3R Wi 3R
fafmtor s wfe ¥ | i

(c) Zlemem. e (fem) (iii) TTESN o Yasi H SR I ¢ s
I’ I
(d) IR dud. (fe) (iv) Sifge TPueT & TEfH sl TRt 9 UeM it B

g {
@ (b) () (d Pk
i i
(1) @) @ Gv) (i) [ |}
@ v @) @) 6 - ‘j
() @) ) @ ) —
44 {
@) @) G @) 6 (
: <
Vi

67. Trefafed weFl & 92 =176 B % IR § W@ %e i 30T B | HUF PIaH-Hdar & =)/ IS
@ﬁﬁﬁﬁﬁ@@ﬂﬁ%mﬁﬁ%%?

. 1 .
HA (I) :  ISd @l | oheel Sreay Jsid |ig THfed 2 © |
HYA (I1) : ﬁqﬁaﬁﬁéqﬁﬁéqﬁnﬁa@ﬁ%ﬁ@amaﬁ SR T AT STHT STANT Hd ¥ |

(1) . S HeF G
) Eﬁ'—ﬁmmﬂl?ﬂ%
3) ‘-;agm(l)vér%asrﬁwanw%

(4) e (I) T ¥ Steifeh e (1) T2 7|
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68. Select the correct code of the following statements being correct or incorrect.
Statement (I) : International liquidity encompasses the international reserves only.

Statement (II) : Internationalliquidity covers only official holdings of gold, foreign exchange,
SDRs and reserve position in the IMF available for the settlement of the
international transactions.

Ty

Code :

(1) Both the statements are correct.

(2) Both the statements are incorrect.

(3) Statement (I) is correct while Statement (II) is incorrect.- {

(4) Statement (I) is incorrect while Statemen?ffl) is cOrrect.

i i
/ | }

i I
I'

69. Match the items of List - IT with the items of List - Il?d select the code of correct matching.
The items relate to International Trade Theories.

!'

-

List - I L List - Il‘l’
<
(a) Comparative Cost Theoty; < (i) Adam Smith
(b) Opportunity Cost Theory (ii) Gottfried Haberler
(c) Factor Endownient iiheory (iii) David Ricardo
(d) Absolute Cost Theory (iv) Eli Heckscher and Bertil Ohlin
|
Code

lll
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68. TrAfafREd el & Wl A¥al Tord B § Haifd Wel e 1 a9 he |

HIUT (I) : ARSI WAdl § hael FAqra ARfera e gofed gt 71

HYA (II) : SR Wl H TR Gel & fuer & fau Faa @l & enfieiis gro
(dw), fageft fafma, ta.Lar. oiR o unuw. & Suesy smfadt feafa wive et

gl
<< :

1) <Ml weF & T {

3) &Y (I) FEl § S e (II) Tord B S { .’{

-

(1)
(2) < A e
(3)
4)

(I) TTerd & SR e (1) e 2| ;f’
/

T - 1 1 /Gl ! G - Iﬁ@?mﬂgﬁﬁﬂﬁ;{@ﬁﬁﬁwwﬁl e AU

” =R fagidl | Geifed € 2
Y ¢
TR - 1 - 1)'.' R - 11
(a) qoHIHS® ANTd g --H (i.) TeH fHY
(b) o @ fasia. © (i) TEHTS FEH
() Wamqlﬁfa éﬁ@’ﬁ{ (i) Sfae ferel
(d) - 9ot =T g (iv) Tl 395 Ud aféa siefem
@ b © @
Q6 @ @ @)
@@ @ ™ 0
@G @) @ 0
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70.

71.

72.

Which one of the following is not the guiding principle of the World Bank regarding it’s
lending operations ?

(1) Proper assessment of the repayment prospects of loans.

(2) Lending should be only for specific projects which are economically and technically
sound and of a high priority nature.

3 The lending should be to enable a country to meet foreign exchange Content of the
g Yy & g
project cost. i

f
(4) The bank does expect the borrowing country to spend the loan in a particular .?du,ntry.
I r

Total return on a security is equal to the following :

Periodic cash receipts + Capital gains {

(1) Purchase Price of the security /‘J

Periodic cash receipts + Capital gains - |
(2) Current Market Price of the security '

Periodic cash receipts /
(3) Current Market price of the security (

<

Periodic cash receipts — Capital gains

(4) Purchase Price of the security

i,

Risk of a portfolio Carii be minimised by which one of the following ?
) Combim'ng two securities having perfect positive correlation in their expected returns.
2) Comblrurf:g two securities having perfect negative correlation in their expected returns.
)
)

Combining Iwo securities having partially positive correlation in their expected returns.

Combining'two securities having partially negative correlation in their expected returns.

73. The certificate which evidences an unsecured corporate debt of short-term maturity, is known
as I
(1) Certificate of Deposit (2) Short-term loan certificate
Treasury Bill (4) Commercial paper
oo ||\||H|| HURRRERA . Fapec
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70. Tr=fafaa § 9 w9 favd S & SUR 7 & Y=reHl & Gae § 39k Avieyis fagid et € ?
(1) i i qAfeRr Famamisti &1 Suge STeha |

(2w e e e e Tl A s S A e o it S e ez A
319 21 IR = mfhekar arett yhfa wi & |

(3) SUR fean ST gfere e =fen foh s <o qfErSTI AT i foreel qe1 Weeeh i gy X o |
4) FHE R TR WY MM FAE F R E @M A IR @ wE [
L

71. T Wfaufd o1 o v Frefafed & se 9§ (

T Johs Wit + Yo o
EIREREIERR @ & { .'i'

-

1)

ek Jehe witeai + g e
iy kT =me] STSIR Jodf

(2)

\ .:J.

gfdyfd k1 =me] IR g f
| -*"dj
etk Jehe Witdai — qoima o

giayfd 1 shd qot

(4)

72. T G wnilqu El?r{ﬁwirqod T ¥ fordeh g =JAqH fohan ST Heha § ?
(1) - < Tt gfasifadt v Sftmg {596 gt el § g GeRieTs 98- aeey o |
[ T vl g i e genfi g § qof TR g 2|
(3) < UH gfayfaai w1 "ty S genfid g § oA SRR -y B |
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74.

75.

76.

Which of the following statements are false ? Indicate the correct code.
(a) Grey market is a market for dealing in listed securities.

(b) OTCEI is mainly intended for big investors.

(c) Insider Trading is legally permitted in the capital market.

(

d) The device adopted to make profit out of the differences in prices of a security in two
different markets is called “arbitrage’.

Code {
1) (@), (b) (9 (2)  (a), (b), (d) (
@) (), (b), () (d) ) (b), (), (d) f f

Which of the following statements are false ? Indicate the coi}‘ect code.
(a) Share capital issued by a company for the first'time is known s venture capital.
-

(b) All Venture Capital Funds in India are promoted b}( the Government.

() In addition to capital, venture capltah'éts provide managerial and technical support
also to the assisted firms. f

(d) Benefits from venture capital financing can be‘?ééhsed in long run only.

Code : " ¢ ——
(1) (a), (b) and (d) < { @ (a) and(b)
() () (© and (@ @ om@

Match the items of List - II with the items of List - I and select the correct code :

-

List - I { List - II
(a) Liquidity Risk { (i)  Risk related to purchasing power of Income.
(b) . Business Risk (i) Risk related to Firm's capital structure.
¢ (c) Financial Risk", (iii) Risk related to inability to pay its dues on time.

(d) Inflation ;Fk | (iv) Risk related to fluctuation in profits.
Code : I

@ 0 @ @
@ @ G o
@QVe @) @ @
(3) (ﬁi> @ @) 6
@ G @) @) @
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74. Trefafaa § @ wiF 9 o 3 €27 Wl %2 TRy |

(@) 3 STOIR ek T SR © Forad gefteng gfayfeal o6 omea dar g
A WL . 7= w9 9 =2 fafessi & faw s=mn mn )
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STIRI STl €, ¢ SaRav’ et © | ;

L

75. TreAfafed # § SF-9 woF o\ §? 9 % TRl *-
(a) e aR ferelt e gr frifa st gt o Fﬁww%
(b) wRd H Tt Trefaes ISt ol 1 gad ERAERIRSIEIES
(c) e Sff, e ST weenei G 3¢ ARy e T qe w6 e

W B
(d) grfye it foxdiaa & haa e § & oy g é’ﬂ ST AR T |
%< : %4 8
(1) (a), (b) 3 (d) af@>@m@
(3) (), (c) W (d) ‘4'm>@ﬁ@

76. e - Ilaﬁﬂaaﬂgeﬁ I 1 7el § fHerm hifSe qen 9@t e 1 =97 i
et - 1 S et - 11

(a) A SHEH () T I KA UK F Fraf-od Sfed
(b) ST Sifa (i) Y % IS BT W Frfud SifeH
(o fadm B (iti) HEA T QT T YA HLA i ST&HA G FraIf-4d siiEm
(d) HaErmIfd (iv) <« H I=EEE 9 wwed Sifew
k3 |
| @ (O ( ) (d)
(1)‘{_() (i)  (iv) (i)
@ (v) () (i)
@) () @ @) 0
4) (@) @) @ @
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77. Statement (I) : Designing a distribution system for a service (for-profit or non-business
context) involves to select the parties only through which ownership will
pass.

Statement (II) : The ownership channel for most of the services is long and quite complex
because of inseparability characteristic.

Statement (III) : Short channels usually mean more control on the part of the seller.

Identify the correct code of being the statements correct or incorrect. These statefhents relate

to channel strategies of products/services. -.'I"; )
(1) Statements (I) and (II) are correct but (III) is not correct. [ f
(2) Statements (I) and (III) are correct but (II) is not correct. {

(3) Statements (I) and (II) are not correct but (III) .is_tcorrect.*_'

(4) Statements (I), (IT) and (III) all are not CQﬁ"ect. -
i i

/ , /

|'I [

78. An enormous collection of data on various topics from a variety of internal and external
sources, compiled by a firm for its own use or for use by its clients, is called :

F
Fd

-

(1) Data-base % H(Z) Data warehouse
(3) Data mining ‘\ £ (4) M.IS.
l 7

79. Statement (I) : A form of non-store retailing that uses advertising to contact consumers
whq;, in turn, purchase products without visiting a retail store is called Direct
selling. |{

Statement (II) : | A form of non-store retailing in which personal contact between a sales
4 person and a consumer occurs away from a retail store is called Direct

4 +Marketing.
In the light of afc/)lverstatements, identify the correct code of statements being correct or
incorrect.
(1) © Statement (I) is correct but Statement (II) is not correct.
(2)|'~ Statement (I) is not correct but Statement (II) is correct.
(3) > Both the statements are correct.

(4) Both the statements are not correct.

poosss | HEITHANNAN 5
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78.

79.

& foTu ol S Tt o1 =19, T Hrea | Tefired TS, et B

HA (1) : TRy Fanedi & fou w@nfie == ol a1 Il Sifed 2 € il S99 3Te 9 8H
S O A E

HT (I11) : @%%ﬁwa@w&m%@w%mmﬁwﬁaﬂméﬁ@m%

Al o W AT el B ok W& FHe HN =TI i | é%mm/@maﬁé;%ﬂawﬁﬁﬁ@r
Tt ¥

f
(1) 2 (1) 7201 (11) T § 9% (I10) & T2 <1

(2) e (I) a1 (1) T § g (II) Tt =1 21
(3) W(I)am(ll)ﬂﬁﬁ%w(m)ﬂé%l/g B
(4)

e (1), (L) T (I00) T+ Wt & { |

fafvm faeii & T 1 favel G T fafe TR % SiafEAdd o Sl 9, W % s
TG TR S F ford, wmw% aﬁmﬁf

(1) <laag () gﬁ’&w (3) a1 AEfT (4) THIETA.

4

WA (I) : ﬁ?@?ﬁ%ﬁmaﬂ@wﬁmﬁwﬁwﬁ@%@w%mmwﬁamﬁ%am
aﬁﬁ@@%ﬁ%ﬁﬁmmmwﬁaﬁ@ﬂaﬁ% 1 TIet fasha wed €1

A (II) : ﬁ?gﬁﬁ%ﬁﬂaﬂ@wﬁmﬁmﬂﬂﬁ%@m@wﬁwﬁnwﬁ%ﬁwﬁgwa
Tt fez S €, 1 weret faoM e < |

Eqﬂaaaﬁa'—hﬁmimﬁ FHUAl o HEl TS TeTd B % G H Wt he 1 T4 HIf9Q

(1) o 2 (I) H%it%ﬁ?:m——r (I1) W& = S
(2), U (1) T T T TG F (1) T T
3) “—Iaﬁ'—ﬁémﬁw%
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80.

81.

82.

83.

34% of the customers who fall in one of the categories of diffusion process who are deliberate
customers to accept an innovation just before the average adopter in a social system. Such
customers who are above average in social and economic measures, rely quite a bit on
advertisements and salesmen are known as :

(1) Early Adopters (2) Early Majority (3) Late Majority  (4) Late Adopters

The G. E. Business Model is explained on which one of the following parameters?

(1) Market Attractiveness and Business Position. -.f‘; )
(2) Business Attractiveness and Market Position. f F
(38) Industry Growth rate and Company’s Market share. ’

(4) Company’s Growth rate and Industry’s Position. f

s N |i
r

A reduction from the list price that is offered by a seller tq> buyers in payment for marketing
functions the buyers will perform is known a"s

(1) Trade Discount r Funch‘; z Discount
(3) Cash Discount Both Trad
\

e and, Functional Discount

e

Match the items of List - II wi_th"bhe-&ems of List - I relating to Personnel Management (PM)
and Human Resource Manageément (HRM) ; and select the code of correct matching.

List - I . List - II
(@) Focusof PM ~  _ (i) Development attitude by making people contribute their
{ ( best.
(b) Focus of HRM (i) Exercising it as a functional area of management.
(c) Philosoi)ﬁy of PM (iii) Exercising it as humane management.

G Philosoph; faf HRM  (iv) Profit maximization by controlling people.

Code '
@ ® |0 @
(1)I @@ @) o @Gv) (@)
@) @ 6 @)
3) '(fv> 0 @ )
@) (i) (v) (i)
yoosas | LTI 44 Paper-l
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80. formrur wferan &t wah Soft § 3T aTet 34% IR fohet WIS a7 H U Sfd STdheis | e
fordl Ta=T sl T A o U qeR Bid & | 3 SuieT THifsies Te anfefer Tqm w eiea 4
a1 B ¥, fomml v fosha safaadil R $o 7 7 fovarg ww €, Fean § -

(1) o TIFTS (2) o g (3) foafem agaa  (4) foafeq stqges

81. .3 AR Higd i FHIifha § ¥ foh AUGUS] W =me & A § 2
(1) ¥R TRy T =Fady fefa e
(2) SHAEM 3TN T AR feerfd { r
(3) SN gfg S e HE! hl SR § A
(4) KT 1 glg T TE AN i fEafd ;

{

82. m@%mﬁmm%@mw%ﬁ{ﬁmmm@ﬁawwwwm
TS H hI e ©
() = g2 %”WF‘%F
(3) TR T %ﬁ:qﬁwwﬁ

. %
83. hifHes YeieH (H.TA.) amnﬂawgﬁwm (THL.STRTA.) & T Gt - 11 % 2l 1 e
el - 1% we @ &Y e, aﬁ#ﬁhé;@aﬂwaﬁl
el - 1 gl - 11
(a) T T T e - () i ST WS Arer 3 % fer 9w we Al
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S0 Hwm ayi-—r : (iti) AT YEH % &Y H HeRd
' (d) TAIMTH. ‘gﬂaﬁ? (iv) SN = R teh @y o1 SAfushasieRo
%<
"o oo le @
(1), @) @) @) )
(2) 2 (111) (i) (@ ()
@) @ G @ ()
4) (@ () (@v) (i)
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84. Select the correct code of the following statements being correct or incorrect.

I Strategic HRM focuses on specific organizational intentions about what needs to be
done while HR strategies focus on long-term issues only.

II  Strategic HRM focuses on macro concerns such as structure and culture while HR
strategy focuses on specific issues assigned.

II'  Human Resource strategy decisions are derived from strategic HRM.

Code i
(1) Statements I and II are correct while III is incorrect. .'I";
2) Statements II and III are correct while I is incorrect. -

(2)
(3) Statements I and III are correct while II is incorrect.
4)

All the statements are correct.
{ °,
g ™ |i
85. Which of the following code represents the flill(form of the term “BARS” in performance
f

management systems ? |

(1) Business Appraisal and Rating Systen’nls"l. ' /
(2) Balanced Assessment Reviewing Scorécard. \ f
(3) Behaviourally Anchored Rating Scale. ‘j V.
(4) Benchmarking Appraisal Reviq{v;{ng Strategy. f "
B 4_'{ '
86. Match the items of List - IT with the items of List - I relating to training, and select the code
of correct matching. -
List - I List - II

(@) Andragogy { =~ (i) Strategies or styles of instructions

(b)  Pedagogy!| (i) Ultimate knowledge level with which trainee leaves the
training sessions

(©) Terminal%ehaviour (i) Lack of commitment of management and scarcity of

/ r:? . resources in training
(d) Training impediments (iv) Art and Science of training the adults

Code
@ () l© (@
M), G Gv) GE) )
@ @) G @ (v)
@) v @ @) ()
@) @) @) @) )
yooss | LNTLANNANAI s6
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e
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87. Which of the following statements does not stand as a principle of compensation

administration ?

(1) An enterprise should have a clear -cut plan to determine differential pay level in terms

of divergent job requirements.

(2) People and jobs should never be mingled.

(3)  The compensation system should be designed with subjectivity with respect tQ individual

skill sets exercised from time to time.

(4) There should be established wage grievance handling procedures.r

rd

[

L

88. Match the items of List - IT with the items of List - I relatmg to mdustrlal relations and select

the code of correct matching.
List - I
(a) Healthy labour-management relations{r ()

(b) Industrial Peace Law (ii)

%

(¢) Industrial Democracy S

(1)
<l
(d) National Commission on Eralft)ur, 1969 (iv)

Code :

|

-, b E

.// Llst .II

Sldustnal Disputes Act

fdmg principles for a grievance
procedure’

%[orkers’ participation in management

Voluntary arbitration and responsible
trade union

89. In recent years which among the following countries has been the largest source of foreign

investment in India ?

Australia (2)

fooss H|H|H||||H||\|“ l

Japan ®)

(NI .

China (4) Mauritius
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90. Assertion (A) : The Government of India has been opening up domestic market to foreign
players in baby steps.

Reasoning (R) : Allowing foreign firms free play in India’s retail sector has always been a
political hot potato.

Code :

(1) (A) and (R) both are correct ; and (R) is the right explanation of (A). ¢
(2) (A) and (R) both are correct ; but (R) is not the right explanation of (A). {
(3) (A) and (R) both are incorrect.

(4) (A) is correct ; but (R) is incorrect.
g |i
s’
i i
91. Select the correct code of the following statements being correct or incorrect.
| |
Statement (I) : A Global Depositary Receipt (GDR)‘iS ' bank certificate issued in more than
one country for shares in a foreign gdmpany,

Fd

-

Statement (II) : A GDR is very smu'}ax\to American ﬁeposﬁary Receipt (ADR)

Statement (III) : GDRs are Ca]{eﬁEDRs when private markets are attempting to obtain Euros.

Code :

(1) Statements (I),!gII) and (IIT) are correct.
L

(2) Statements (I) and (II) are correct but (III) is incorrect.

3 Statemeng (I) and (III) are correct but (II) is incorrect.

a

(4) Statements III) and (III) are correct but (I) is incorrect.

92. In|December 1999, European commission members signed a treaty that committed them to
adopting a common currency known as Euro. This is better known as :

¥
w

(1) Treaty of Rome (2) Treaty of Maastricht
Treaty of Lisbon (4) Treaty of London
Foows HI\IIHII HURRRERA . Fapec
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93. Select the correct code of the following statements being correct or incorrect.

Statement (I) : The law of one price” states that in competitive markets free of transportation
costs and barriers to trade, identical products sold in different countries
must sell for the same price when their price is expressed in terms of the
same currency.

Statement (II) : An ‘Efficient market’ has no impediments to the free flow of goods and
services, such as trade barriers.

Code : {
I’ r
(1) Statement (I) is correct but (II) is incorrect.
(2) Statement (II) is correct but (I) is incorrect. - - F
i
(3) Both statements (I) and (II) are correct. ; E

' A
(4) Both statements (I) and (II) are incorreg’t. _'I

| I
| |

94. Which among the following is not a correct statemen{{egardfiﬁg patent ?

\
(1) A patent is a legal protection Era‘nted for an in_(zention that is new, non-obvious and

useful. - ¢

A
(2) The patent grants the patent holder the exclusive right to make use or sell the patented
products or process.

i,

(38) The exclusive ptirpose of the patent system is to benefit the patent holder.
w |

(4) The Indian Patent Act, 1970, was amended and made effective from January 1, 2005.
"4
r- - 1
95." Which one of thegfollbwing is agricultural income under the Income Tax Act, 1961 ?

(1) Interest on arrears of rent in respect of agricultural land.

(21 Interest received by a money-lender in the form of agricultural produce.
L]

(3) ¥ Income from sale of trees of forest which are of spontaneous growth and in relation to
which forestry operations alone are performed.

Interest on capital received by a partner from the firm engaged in agricultural operations.

poost HIHIHIIIIHH\ [V
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96. Under the Income Tax Act, 1961 “block of assets” for the purpose of charging depreciation
means :

(1) Value of all the assets after depreciation
(2) Value of all tangible assets after charging depreciation

(3) Value of all those assets to which one rate of depreciation is applicable
(4)

4)  Gross value of machinery and plant less accumulated depreciation

s
4

97. The maximum amount of exemption of compensation received at the time of vcﬂuntary
retirement U/S 10(10C) of the Income Tax Act, 1961, is : { r
(1) < 1,00,000 (2) ¥ 2,50,000 (3) < 5,00,000 4) < .10,00,000

r

y
98. Which one of the following statements is not correct with referende to the assessment of
firms ? »

(1) All partnership firms formed under th?'flndlan Parhlershlp Act, 1932, are assessed as
firms under the Income Tax Act, 1961 f

(2) Income of a firm is taxable at a flat rate of 309 Pdthout any exemption.
(3) Partners’ share in the income of a firm is not chargeable t0 tax in the hands of partners.
(4) Remuneration paid to partnersiof a firm (assegsed as such) is allowed as deduction
subject to statutory limit. { !
: X d
Y4
99. The due date of first instalment of advance tax by assessees other than companies is :
(1) 15t April < (2)~ 15t June (3) 15t September (4) 15t December

-

|

100. Which one of the following items is not allowed as deduction while computing income from
business andquPfession ?

(1) Fees paid te, the lawyer for drafting partnership deed
(2) Loss due tof en;bezzlement by an employee
(8) Legal expgrllses paid to protect the building of the business
(4)" Cost of installing a new telephone

\

§
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96. 3T fufaW, 1961, 1=, B =TSt i o Ie¥d W ' il & sare '’ | 790 Bl ©
(1) o9 ¥ 99 il 1 g
(2) oY TS R o YYEd G qd qrafadl s ged
(3) 7 gft gt 1 g f5H R g9 At Uk & < AR Sl ©
(4) Hfed B9 WM % o1g A T wiie i Gehel Yoo
97. IR AUMTAH, 1961, HT &R 10(10C) F T=wid Wiwgsw dar fgfa & a9 HILd- Hﬁr{ﬁ Edl
ey T T H R f
(1) % 1,00,000 2) ¥ 2,50,000 (3) % 5,00,000 (4) %,10,00,000
08, el & i &5 e B, Frefean § @ w1 g o 98 21
(1) ¥R ARt sifufad, 1932, %Waﬁﬁwa@aﬁﬁwwﬁaﬁmw
arfufEm, 1961, %Wﬁ%wﬁﬁﬁmw%l ,-
2) Wﬁaﬁmm&{:ﬁ@z%%/sﬁrwa@ RRIGIES
(3) T T o H R % o Y o WREr el # wp T A 2
4) wH (3 w9 H @) ?H@aﬁaﬁﬁmwﬁméaﬁm@m%aﬂ T heldl A
B e | <, |
T
99. W & Tfafie 7= qﬂqmwﬂi%m%ﬁ ST X 7T o geom foRed ot < fafy 2t ©
(1) 15 W« !:' 2). 1554 (3) 15 faa=r 4) 15 feuamr
w |
100. ﬁwﬁf@aﬂaﬁﬁﬁqmwwamﬁﬁﬁmaﬁmﬁﬁﬁ%wﬁmﬁ%ﬁm
ST ?
(1) e v R w0 i T 9 @ T
() fodl SH=Rl 5/ fRa T 7oA o R gAT B
(3)/ Wﬁm'ﬁmaﬁgm%@ﬁmwaﬂﬁrm
(4) T TAD hl TLA A H HA
-00o0-
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Space For Rough Work
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